Name: Period: Date:
Chemical Reactions Review

Test Format: 35 multiple choice, 5 fill-in the blank, 2 write the equation, 3 type of reaction and
prediction.

QA I. A chemical reaction is a process in which:
a. reactants change into products
b. substances with new physical and chemical properties are formed
¢. the law of conservation of mass applies

all of the above

* Q,m 2. What are the reactants in the following chemical equation,

Zn + CuSO4 = ZnSO;4 +~«'—‘f<:a
a. zinc and copper ' @zinc and copper (II) sulfate
b. zinc sulfate and copper d. only zinc

_Q 3. What happens to the bonds between atoms in a substance that undergoes a
chemical reaction?
a. all single covalent bonds become double covalent bonds
b. some existing bonds will weaken while others will strengthen
g} existing bonds are broken and atoms are rearranged with the formation of new bonds
. bonds between atoms are unaffected during a chemical reaction

&_ 4. In a chemical reaction, the total mass of the substances before the reaction is:
equal to the total mass of the substances after the reaction
0. usually smaller than the total mass after the reaction
c. usually greater than the total mass after the reaction
d. sometimes greater, and sometimes smaller than the total mass after the reaction

6 5. The numbers used to balance a chemical reaction are called:
a. superscripts c. subscripts
b/j coefficients d. formula units

A 6. Which of the following types of reactions results in a single product?
direct combination reaction c. double replacement reaction
b. single replacement reaction d. decomposition

Q 7. What is the physical state of methane (CH,) in the following reaction?
CHa (g) + 02 (g) 2 CO; (g) + H,0 (g)
a. solid c. liquid
@ gas d. aqueous

CQ“ 8. A combustion reaction typically involves:
a. the production of a radioactive substance
b, something being burned
c. the synthesis of a hydrocarbon
d. the production of no new substances

ﬁ 9(% hich of the following symbols indicated the addition of heat to a reaction?
a A b. — C. d. (h)



\
Q 0. Which of the following is the coefticient for water in the following equation:
2 Al(OH); =2 3 H,0 + ALO; ?
a b. 2 @3 d. 4

Balance the tollowing equations.

1. GAl+ 30, (g) > 2 AL,
12. R FeCly + 3 (NH),S > [ Fe;S; + [p NH,CI

1

(o

3 AgSOs + AAIBr > lp AgBr+ | AlL(SOs);
14. % NaOH + | H;PO4 (ag) > | NasPO, + 3 H,0
15,4 P+5 0,(g) > P,0s

16. L SnCly + £ KI-> | snly +4 KCl

17. A Al+3 H,S04 (aq) > _| AL(SO.) + 3 H, (g)
18. X Zn+ | 05(g) > A ZnO

19..9 CaS + 3 H;POs (aq) > | Cas(POy); + 3 H,S

Write the following equations and balance.
20. aluminum and hydrochloric acid react to form aluminum chloride and hydrogen gas

AU+ b rnteg) = A AL, 134, ()
21. carbon and oxygen gas react to produce carbon dioxide
22. calcium bicarbonat¢ and calcium hydroxide react to yield calcium carbonate and water
Q)L( H QOQQ_ + QLLCDHL—‘? Q\Qoﬁbg + AH50
23. hydrogen sulfide and oxygen gas react to form water and sulfur
ARLS o+ Dale) — S H0 +25
24. sodium hydroxide and calcium nitrate react to yield sodium nitrate and calcium hydroxide
ANAOH Lo (o), — 2 Nahwos) + Lalom),
25. potassium iodide and chlorine gas react to form potassium chloride and iodine
FRT + Wyly) =~ AKL Taty)
26. sulfuric acid and potassium hydroxide react to produce potassium sulfate and water

Hg‘godru\%ﬁ + 2K O0RN = YNy 80 Y AN



27. calcium sulfate and sodium carbonate react to produce calcium carbonate and sodium sulfate

““G‘ii: 4 % ‘\\’ﬁat’tf} —> G_& E/ﬁ;} R i\bﬁa »}i:i}a‘_

28. lead (1) nitrate when heated decomposes to form lead (1) oxide and nitrogen dioxide and
oxygen gas

APb (ND5) —=> 2 PpD “*“%M On + Oy

Indicate the type of reaction and write a balanced equation for the following.

29. cadmium nitrate and sulfuric acid Type: D

30. zinc and silver iodide Type: IR

31. iron (I11) chloride and sulfuric acid Type: DE.

32. bismuth sulfate and ammonium hydroxide Type: DQ.

33. hydrogen iodide and oxygen Type: %R

34. nitrogen gas and hydrogen gas Type: DC,

35. barium sulfate and carbon Type: S

36. aluminum hydroxide (heated) Type: O

37. burning methane Type: ¢ ?a{‘f\&)g 19 )@g@{\

38. hydrochloric acid and sodium hydroxide Type: DE
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